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(1) ZdfrE(v) VITHPOEREICEIY v =10 %
(2) Bl A TR (m)
1
al= o 5Ty = 1.25
100
m = a1 X SL = 1.25 X 27 = 33.8 N/mf
Xo>T m = 33.8 Nuwf
(3)kEAL FEE(W/C) m = -17.6 + 26.8 X C/W
W/C = 26.8 = (33.8 + 17.6) X 100 = 52 % = [55%(LBE1 )]
"W/C = %
(4) BfpKE (W) YT OERIC ot@ W = 173 ke /mi
(5)HAIE AL FE(C) C =W +~ (W/C) X 100 = 173 += 52 X 100 = 333 kg/m
Cv= C + P = 333 ~ 3.04 = 110 £ /m
(6) 2558 (A) A = 4.5 % X 1000 = 45 2 /m
(7)EM=E(s/a) MTHOFEREICEIY s/a = 47.6 %
(8) NI EME(S) Sv = (1000 — (WH+Cv+A)) X s/a = 672 X 47.6 % = 320 #¢/m
S1 = Sv X 60.0 % X FELEE = 320 X 60.0 % X 2.64 = 507 kg/m
S2 = Sv X 20.0 % X FEELEE = 320 X 20.0 % X 2.76 = 177 kg/m
S3 = (Sv — SvX60.0% — SvxX20.0% ) X 2.66 = 170 kg/m
(9) BALHEM & (G) Gv = 1000 — (W+Cv+Sv+A) = 1000 — 648 = 352 £ /m
Gl = Gv X 50.0 % X FKELEE = 352 X 50.0 % X 2.72 = 479  keg/m
G2 = ( Gv — GvX50.0% ) X 2.72 = 479  kg/m
(10) B R AN 2 (Ad) Ad = C X IE = 333 X 0.70 % = 2.33 kg/m
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